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B R E
TH4 | R TR R g
LHFXSy - L - fijl H O B & & H il ! N
i LT v 21,702, 578
T T 5 R fif a2 T X 27, 000
ik 1T X 27,000 | TR 5 R 0 A % 1 20
ElE SR K 20, 115, 908
PEHOKE B PR 1 T X 12,375,949 | RAIAIEIEE HOKT wy) 1 PN

HIVP ¢ 65 1=5.5m /A" MIAK (L vF1. 375m FLEE 6
3.5 FLEBME) ;

P B BOk7 ny) (B VoA &) 1 %N
HIVP ¢ 65 1=5.5m /A" MIAK (L vF1. 375m FLEE 6
3.5 FLEBME) ;

BB BOKT 1) (VW77 &) 1 %N
HIVP ¢ 65 1=5.5m /A" MIAK (L vF1. 375m FLEE ¢
3.5 FLEGBME) ;

PEAFETERE: BOKT ny) 1 %N
HIVP ¢ 65 1=2.8m /A" MIAK (L vF1. 375m FLEE 6
3.5 FLEGBME) ;

AT B Bok7 1) (REE) 1 %N
HIVP ¢ 65 1=0. Tm /A" MIAK (t" 971, 375m FLEE ¢
3.5 FLEBME) ;

PEAFRPRRE 25 - BOUKT ny) 12 %N
HIVP ¢ 65X ¢ 65 L=5.5m /A MEAE (L vF1. 375m
FE$3.5 FLESHE) ;

AR 3% - HWOK7 my) (VN VoA ) 2 %N
HIVP ¢ 65X ¢ 65 L=5.5m /A MEAE (L vF1. 375m
AFE$3.5 FLESHE) ;

AR 25 - WOK7 nys (07 fFE) 2 %N
HIVP ¢ 65X ¢ 65 L=5.5m /A MEAE (L vF1. 375m
AFE$3.5 FLESHE) ;

PEAFRPRRE 25 - BOUKT ny) 5 %N
HIVP ¢ 75X ¢ 65 L=5.5m /A MIAE (£ vF1. 375m
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3.5 FLESE) ;
PEATROEVE 16 - HOK7 mys (M Vgt ) 1 A
HIVP ¢ 75X ¢ 65 L=5.5m /A" M4k (t° yF1. 375m
3.5 FLESE) ;
PEATRPEME 15 - BOKT my) (V7T X)) 1 A
HIVP ¢ 75X ¢ 65 L=5.5m /A" M4k (t° yF1. 375m
3.5 FLESE) ;
BB 3% - Bok7 ny) 1 A
HIVP ¢ 75X ¢ 65 L=1.5m /A" M1:AE (t° yF1. 375m
3.5 FLESE) ;
BB 3% - Bok7 ny) 8 A
HIVP ¢ 100X ¢ 65 L=5.5m /A W14k (£ 9F1. 375m
3.5 FLESE) ;
BB 3% - Bok7 ny) 3 A
HIVP ¢ 100X ¢ 65 L=5.5m /A W14k (£ 9F1. 375m
3.0 FLEAME)
PEATROEVE 16 - HOK7 mys (B Vg ) 2 A
HIVP ¢ 100X ¢ 65 L=5.5m /A W14k (£ 9F1. 375m
3.5 FLESHE) ;
PEATROEVE 16 - BOK7 mys (M Vg ) 1 A
HIVP ¢ 100X ¢ 65 L=5.5m /A W14k (£ 9F1. 375m
3.0 FLEAME)
PEATRPEVE 15 - BOKT my) OV V7)) 2 A
HIVP ¢ 100X ¢ 65 L=5.5m /A MIAE (& 9F1. 375m
3.5 FLESE) ;
PEATRPEVE 15 - BOKT my) OV V7T X)) 1 A
HIVP ¢ 100X ¢ 65 L=5.5m /A W14k (£ 9F1. 375m
3.0 FLEAME) ;
BB 3% - Bok7 ny) 1 A
HIVP ¢ 100X ¢ 65 L=3.9m /A MIAE (£ 9F1. 375m
3.0 FLEAME) ;
BB 3% - Bok7 ny) 1 A
HIVP ¢ 100X ¢ 65 L=4.5m /A MIAE (& 9F1. 375m
FLEE 6 3.5 FLESE)
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PR 25 - Bok7 nys 1 VN

HIVP ¢ 100X ¢ 65 L=4.9m /A WAE (t" yF1. 375m
3.5 FLESME) ;

PR RN 25Kk7 ny) (LAY7 0y )) 2 /N
HIVP ¢ 100X ¢ 65 L=0. 6m ;
TEAIABIE 36 - #okT ny) 3

HIVP ¢ 125X ¢ 65 L=5.5m /A W14k (£ 9F1. 375m
3.0 FLEAME)
PEATROEVE 16 - HOK7 mys (M Vgt ) 1 A
HIVP ¢ 125X ¢ 65 L=5.5m /A W14k (£ 9F1. 375m
3.0 FLEAME)
PEATRPEVE 15 - BOKT my) OV V7)) 1 A
HIVP ¢ 125X ¢ 65 L=5.5m /A MIAE (& 9F1. 375m
3.0 FLEAME)
BB 3% - Bok7 ny) 1 A
HIVP ¢ 125X ¢ 65 L=3.5m /A MIAE (£ 9F1. 375m
3.0 FLEAME)

PEAFETRRE: 16KT7 ny) 1 VN
HIVP ¢ 100 L=2.95m ;

PR B AR 1 =

AT BHE WK ny) 1 A

HIVP ¢ 65 1=5.5m /A" MIAK (L vF1. 375m FLEE 6
3.5 FLEBME) ;

AT HHE Bk wy) (B VAEE) 1 %N
HIVP ¢ 65 1=5.5m /A" MIAK (L vF1. 375m FLEE ¢
3.5 FLEBME) ;

AT HE oK ny) (VW7 A ) 1 %N
HIVP ¢ 65 1=5.5m /A" MIAK (L vF1. 375m FLEE ¢
3.5 FLEBME) ;

WA BOKT ny) 1 %N
HIVP ¢ 65 1=2.8m /A" MIAK (L vF1. 375m FLEE ¢
3.5 FLEBME) ;

WA HHE Bk 1) (REE) 1 %N
HIVP ¢ 65 1.=0. Tm /A" MEAK (¢ 971, 375m FLAE 6
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3.5 FLEBME) ;
BT HTBE & - k7 ny) 12 %N
HIVP ¢ 65X ¢ 65 L=5.5m /A WtHE (t° vF1. 375m
¢35 FLESMHE) ;
AT BE 15 - HoK7 my) (M V/Afx) 2 A
HIVP ¢ 65X ¢ 65 L=5.5m /A WtHE (t° vF1. 375m
¢35 FLESMHE) ;
AT BHE 15 - HOKT my) OV E) 2 A
HIVP ¢ 65X ¢ 65 L=5.5m /A WtHE (t" yF1. 375m
¢35 FLESMHE) ;
BT HTBE & - BoKk7 ny) 5 %N
HIVP ¢ 75X ¢ 65 L=5.5m /A WtHE (t° yF1. 375m
¢35 FLESMHE) ;
AT BE 15 - HoK7 my) (M V/Afx) 1 A
HIVP ¢ 75X ¢ 65 L=5.5m /A WtHE (t° yF1. 375m
¢35 FLESMHE) ;
AT BHE 15 - HOKT my) OV E) 1 A
HIVP ¢ 75X ¢ 65 L=5.5m /A WtHE (t° yF1. 375m
¢35 FLESMHE) ;
BT HTBE & - BoKk7 ny) 1 %N
HIVP ¢ 75X ¢ 65 L=1.5m /A WtHE (t° vF1. 375m
¢35 FLESMHE) ;
BT HTBE & - BoKk7 ny) 8 %N
HIVP ¢ 100X ¢ 65 L=5.5m /A MIAE (& 9F1. 375m
3.5 FLESE) ;
BT HTBE & - BoKk7 ny) 3 %N
HIVP ¢ 100X ¢ 65 L=5.5m /A W14k (£ 9F1. 375m
3.0 FLEAME) ;
AT BE 15 - HoK7 my) (M Vgt x) 2 A
HIVP ¢ 100X ¢ 65 L=5.5m /A W14k (£ 9F1. 375m
3.5 FLESE) ;
AT BE 15 - HoK7 my) (M V/Afx) 1 A
HIVP ¢ 100X ¢ 65 L=5.5m /A W14k (£ 9F1. 375m
FLEE 6 3.0  FLEAME)
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AT BHE 15 - HOKT my) OV E) 2 A
HIVP ¢ 100X ¢ 65 L=5.5m /A W14k (£ 9F1. 375m
3.5 FLESE) ;
AT BHE 15 - HOKT my) OV E) 1 A
HIVP ¢ 100X ¢ 65 L=5.5m /A MIAE (£ 9F1. 375m
3.0 FLEAME)
BT HTBE & - BoKk7 ny) 1 %N
HIVP ¢ 100X ¢ 65 L=3.9m /A WM1&L (£ 9F1. 375m
3.0 FLEAME)
BT HTBE & - BoKk7 ny) 1 %N
HIVP ¢ 100X ¢ 65 L=4.5m /A WM1&L (£ 9F1. 375m
3.5 FLESE) ;
BT HTBE & - BoKk7 ny) 1 %N
HIVP ¢ 100X ¢ 65 L=4.9m /A WM1&L (£ 9F1. 375m
3.5 FLESHE) ;
P8 E 25K my) (LB ny)) 2 %N
HIVP ¢ 100X ¢ 65 L=0. 6m ;
BT HTBE & - BoKk7 ny) 3
HIVP ¢ 125X ¢ 65 L=5.5m /A MIAE (& 9F1. 375m
3.0 FLEAME)
AT BE 15 - HoK7 my) (M VAfx) 1 A
HIVP ¢ 125X ¢ 65 L=5.5m /A MIAE (£ 9F1. 375m
3.0 FLEAME) ;
AT BHE 15 - HOKT my) OV E) 1 A
HIVP ¢ 125X ¢ 65 L=5.5m /A W14k (£ 9F1. 375m
3.0 FLEAME) ;
BT HTBE & - BoKk7 ny) 1 %N
HIVP ¢ 125X ¢ 65 L=3.5m /A MIAE (& 9F1. 375m
3.0 FLEAME) ;
BT BE XK ny) 1 %N
HIVP ¢ 100 L=2.95m ;

[(=5=wmn = 1 640, 620
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VA =
B NERE
TH4 | BRENHEESREERE T
THRXSy - LHE - fER B ¥ = & M A il ) EN
FARTE = 1 6,830, 121 | H Hupt 8 m2

NEHFHEE t=10 ;

FERE (EE - BE 54 m2
AR EZ EHE (25) t=8cm ;

R (FEE - BEE) 158 m2
AR E T 222(20) t=bem 1. 4mATH ;

#E (HiE - BEH) 175 m2
FABRET Ao 88 T t=5cm 1. 4nAH

SRR DT 1 =
T AT 7V NEEERR 15emPL T

2 e e 200 m2
T AT 7b MR BEESA Y demZ i X 10c
mEA T

gD b L 40 m3
SRS B T

WGy e 19 m3
ASTE GREHIIX) (N

WGy e 40 m3
COW% (R HIX)  (BRAD) ;

U ¢ 2 m3
THURALER (R HX)

X T AR T 63 m
A=l R (3) W=150 ;

X T AR T 224 m
~A v bR ER(E) W=150

X T AR T 63 m
R SRR (5 W=200 ;

(RS ES 1 =

HebE T N I 260,218 | HbkiR ! A
rGan = 1 1, 559, 670
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A NERE
TH4 | ERENHR SR ERE T
THXSy - T - flj HOfr B & & fH # bl 2 g
A BT = 1 1,559,670 | & iWFHEE A 1 oy
Rk E v 1 4, 069, 000
il (RE L) v 1 4, 069, 000
TR v 1 25,771, 578
B E R v 5, 958, 000
TR A R 2 = 978, 000
Pt TR = 32,707, 578
R B E = 741, 000
TRl = 58, 466, 720
—fRE % v 11, 993, 280
LR X 1 150, 000
T fifik& X 1 70, 610, 000
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PR NERE

THEA4 [RCEAR ] 50 A8 P AL S R i (e T

TEHEXSy - TfE - fER Bz ¥ = & A M i N 7
BUET = 1 11, 445, 000
THifah 25 3% (i A 2V 1 11, 445, 000
Pl =5 5% A = 1 11,445,000 |fEEE (= FHFR-H2 0 ) 1 =
MEmRE  105m2@100mmt° > F |
HEEE (== b - ARGER) 1 =
AEmAE 35m2@100mmE” > F
FlAY R 2V 1 11, 445, 000
AR 2V 1 11, 445, 000
PEA T X 1 8, 005, 142
TH R B st = 1 82, 000
Lpe S = 1 82, 000 | VM =5 3% i tigi 125 1 2V
TH T B A PR 1) = 1 7,923, 142
TR AT 2V 1 1,399,838 |fEas (== FAHX-B V) 1 2V
MEmRE  105m2@100mmt° > F |
HEEE (== b - ARGER) 1 =
AEmAE 35m2@100mmE” > F
=T =M 1 4,270,574 | HrEAERL 1 =
SUS15A@150mm  140m2 ;
+ARTHE = 1 2,252,730 |HIHIT 320 m2
AS  t=4emPl T EEFEA
HfE (HE - BEE) 160 m2
SMA  t=dcm 1. 4mAiE ;
FJE (HE - BE) 160 m2
BABKE 7 2o G 0 t=4cm 3. Omid ;
FhE (BE - BE) A 160 m2
BABRKE T 22 (13) t=4cm 3. Omid ;
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BAENRE
THEA4 [FEA] 20 N THE S R R e RE T
THRXSy « Lff - fEi5 Bz ¥ & & A i a1l % 7
X R R 40 m
R SERR (H) W=150 ;
X [ R T 40 m
R SERR (B]) W=150 ;
L5 13 m3
ASH: (HGEAHIX)  (BIH])
st = 1 1, 576, 000
Il (it L) = 1 1, 576, 000
il TR = 1 9, 581, 142
Bl H 2V 1 2, 136, 000
PEfH = 1 1, 856, 000
PEAT TR 5 = 1 13, 573, 142
T =5l = 1 25, 018, 142
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